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Alice Le Bihan
Comments: unlike the efficiency, the CoP is not given as a percentage. So:
CoP_irrev=1.74
CoP_rev=6.33

Alice Le Bihan
Comments: the electricity consumption to freeze 1kg of mass of water is given by the ration of the heat over the CoP irreversible. The heat is the one needed to bring 1kg of liquid water at 20°C to ice at -20°C.



Alice Le Bihan
Comments: the transformation is correct. However the P,T diagram is usually done with T as x-axis and P as y-axis. You should have reported this transformation on the P,T diagram of the water (the one with the triple and critic point).

Alice Le Bihan
Comments: the transport efficiency is told to be negligible. By doing the energy chain needed to produce the electric power from methane combustion, you would have found that you need the alternator efficiency, the CO2 molar mass and the methane calorific value.

Alice Le Bihan


